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PART A: Grammar and Vocabulary
Directions: Questions 61-68 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), or (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

He was wearing a .......... shirt.

1) white and black cotton beautiful 2) cotton beautiful black and white

3) black and white beautiful cotton 4) beautiful black and white cotton
After his wife .......... ,Jack .......... the two children all by ..........

1) died/ brought up/ him 2) was dying/ was bringing up/ himself
3) died/ was bringing up/ him 4) died/ brought up/ himself

Don’t worry. He .......... frightening at first, but he’s really ..........

1) may be looking/ the very friendly person 2) may look/ a very frlendly person
3) might be looking/ a very friend person 4) might look/ a very friend person

When you exercise, the number of blood cells in your blood ..........

1) hopes 2) increases 3) saves 4) protects

I haven’t heard anything from him since then. I .......... what he’s up to.

1) cross 2) wonder 3) carry 4) collect

A half - doctor Kkills you and a half — religious scholar Kkills your .......... 0

1) invention 2) energy 3) belief 4) power

Dr. Brown is very friendly and helpful to his patients. Not surprisingly, he is regarded as a/an
.......... physician.

1) ordinary 2) countless 3) enjoyable 4) dedicated
The first experience of a baby’s loneliness is the time he’s put in the ......... to sleep.
1) nature 2) plain 3) cradle 4) grave

PART B: Cloze Test

Directions: Questions 69-72 are related to the following passage. Read the passage and decide
which choice (1), (2), (3) or (4) best fits each space. Then mark your answer sheet.

One of my favorite vacation places is Mexico. I really like the (69) ......... there because it
never gets cold. The people are very nice too. They never laugh at my bad Spanish. The food
is (70) ......... It is very delicious. Mexico City is a very (71) ......... place to visit. It has

some great museums and lots of fascinating old buildings. The hotels are too expensive to
stay but there are more affordable options. For example you can stay at one of the beach
resorts like Acapulco. If you are planning to visit Mexico, you should definitely (72) .........
the Mayan temples near Merida.

1) point 2) weather 3) wildlife 4) liquid
1) hardly good 2) hardly well 3) well really 4) really good
1) dangerous 2) familiar 3) international 4) interesting

1) to see 2) will see 3) see 4) seeing
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PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

Last summer, my wife Jane and I went to visit the town where we both grew up. We hadn’t
been there since we were married ten years ago.

First, we went to the neighborhood where my wife spent her childhood. It hadn’t changed
very much. The house where she was born was still there, but it was now a different color.
The same neighbors still lived next door. They were very glad to see Jane and asked us to
come in and have a cup of coffee. We learned about all the neighbors, old and new. Once a
question was answered, she would ask the next. “What happened to the Dunbars who used
to have the little yellow house on the corner?” “Who bought the old Johnsons’ place in the
next block?” “Do Fred and Martha Alberts still live down the street?” “What about Miss
Burton, who lived alone in that extremely big house?”

Then we went to see the neighborhood where I grew up. What a disappointment! It was all
changed. All the old houses I remembered were gone and in their place were some very
modern ones. I didn’t know any of the people who lived there.

The passage points out that Jane and her husband had not visited their hometown ......... .

1) for ten years 2) for a short time

3) since last summer 4) since their childhood
According to the passage, Jane’s neighborhood ......... -

1) had not changed 2) had completely changed
3) had changed a lot 4) had not changed lot
Jane learned all the news about her neighborhood by ......... .

1) having a cup of coffee 2) asking a lot of question
3) visiting different places 4) visiting all the neighbors

Jane’s husband ......... -
1) knew the people in both neighborhoods  2) asked questions about the Dunbars
3) found his hometown quite different 4) lived in a very large house
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Passage 2:

Mau sailed from Hawaii to Tahiti using traditional methods. In early 1976, Mau Piamilug, a
fisherman, led an expedition in which he sailed a traditional Polynesian boat across 2,500
miles of ocean from Hawaii to Tahiti. The Polynesian Voyaging Society had organised the
expedition. Its purpose was to find out if seafarers in the distant past could have found their
way from one island to the other without navigational instruments, or whether the islands
had been populated by accident. At the time, Mau was the only man alive who knew how to
navigate just by observing the stars, the wind and the sea.

He had never before sailed to Tahiti, which was a long way to the south. However, he
understood how the wind and the sea behave around islands, so he was confident he could
find his way. The voyage took him and his crew a month to complete and he did it without a
compass or charts.

His grandfather began the task of teaching him how to navigate when he was still a baby. He
showed him pools of water on the beach to teach him how the behaviour of the waves and
wind changed in different places. Later, Mau used a circle of stones to memorise the
positions of the stars. Each stone was laid out in the sand to represent a star.

The voyage proved that Hawaii’s first inhabitants came in small boats and navigated by
reading the sea and the stars. Mau himself became a keen teacher, passing on his traditional
secrets to people of other cultures so that his knowledge would not be lost. He explained the
positions of the stars to his students, but he allowed them to write things down because he
knew they would never be able to remember everything as he had done.

What question did Mau want to answer by making his voyage?

1) Where is Hawaii?

2) How long is the distance between Hawaii and Tahiti?

3) Is it possible in the past to sail without navigational instrument?

4) Where is Tahiti?

How did the voyage change Mau’s life?

1) He started to teach his skills. 2) He became famous.

3) He lost his ways in the ocean. 4) He learned more things.

What’s the best title for this passage?

1) Hawaiian inahabitants. 2) navigational instrument and voyage.
3) Mau Piamilug as a ocean navigator. 4) A good teacher in Tahiti

What does distant mean in line 4, paragraph 1?
1) apart from 2) far away 3) many years ago 4) recently




